Answer Key

Suggesied Metheds

List the labeled sides from shorrest fo longest.

I 3' b
k a<b Z b<a

b<a

27

28

Find the indicated squarss.

L 121 28 64 3.2 16 4 r 13
& 1322 &2 ] Tkt 125 8.& 36
" o 2y 4 AL
9. 2.3 520 012 1.44 n & 5 12. (3 T
Find the indicated sguare roots
13.43 2 14981 9 154700 10 16164 8
17.021 11 18.V25 5 .9 3 20. V49 7
s e g [4 2
21.\16 4 22 144 1,2 By 3 25 5

Simplify each of the following, Circle the answer in each row of problems
that does not belong. Write the comesponding letter above the problem
numoer below.

25 N V200 250 10,2
2. T 720 Y a5 1975
7. R m\E 350 15 B0 153
2.Q VB0 g/ 5 260
wou 2% g | a8 gh
B0.C a\'ﬁ v ] 54 é\‘g
AL istuly i % 2L_5 !

15 . F 3

o ix ﬁg . jzs j

«=10 x= 15 a2 42

5 c.E [l V

5 13 S

- 2V14 k=20 1 e 15

9. - 10. 2
x e
5 N o N

= 2 x=3/2 x=3/2 x=3¢3

13. To go from Dukevills to Karlton, you can travel clong the two main high-
ways or the direct route along Valley Road.

a. How longis the highway route? 84 miles
b. How long is the Valley Road route? 40 miles

<. How many miles do you save by faking
the direct ioute? 54 oil~e
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Find the areas of the right friangles below, Find the missing sides.
2 3 4 4 iF: 2 3
,B:M W Vls /i 18 S 2 . } ”
i 32 k -
v I
3 C— 3 O 503
243
1 P
T s
5
Find the missing side.
3 7 8. 4 5
15 17 16 16 &
12 15i 12 20 a0 . 5 =
0 P
n 4T
B ] & ml 45
9. = o, — il 12, — 5
™45 310/, 10 |\2/13
2 % S &
] 3 4 = L :
Cross out the comect answers each lime they oppear below. Use The 3\‘3 6 ‘.‘3‘ 2/2
remaining letiers fo complete the staternent. i ¥
28 5.~110v3 W7 o0 8 & 6 nl 5
P S v L A 5D
5 % 20 20 4 36 Q 45 3
G (o] R E A N 10 1
4% 7 15 4 120 J0 b 60 23 215 S e
T ” ] P L E 5 A o r ’
52 3.2
Sels of numbers like 3,4,5 and 5, 12,13 are caled PYTHAGOREAN TRIPLES
2 0 H
Why is this ferm cppraprioie?The numbers satisfy the Pythagorean 5/2 3,2
Theorem.

.
Find the missing sides 1. a. Which angle is congruent to:

% = 2 = =LK =LY v=tW
é\-‘2 v 5503 A 3,3 b. Which side is congruent fo: \
b T =YX V=YW V=W A # 4

<. Write one correct congruence statement.

32
4 ﬁ SR & ATUV = AYXW w Sty
é‘.g 12 = 2] 2 h 4’ 8 2. a. Which angle is congruent to:

ch=dtX p=ld so=lY

7. 8. —L @ . . . Mﬂ:h sicle \s_congrgwf‘ri . ¥
BS:’Q, 32 ;3, 6.3 &2\:‘2, 2/2 7 -X7 B =2V =X A

c. Write one corract congruence statement.

AABC = AXYZ

O 1. — 12 o Complete each congruence:
\343.3 B 5,52 403,873 e =4 KL

% i K a
iy Gl b. AL = A _IHG
Cross out the correct answers. The remaining letters (one per space) 10 12 =y ® e AlsH =a JLK
complete the statement. ; o
3 7 ) ; A3 V- d ALK =a_GIH
3 HA LF | 5 X
/ %f{ 25 N X 20 3 W 36 >§( g 5 o 3 L
v TH EH YP
1 4 16 ) 8 32 Y 2 7 Y V
o1 X EN R LS E: b X 4 % i o AaTv = A ERKV
b ATMA =4 KVE
ﬂuﬁﬂ—f[}ﬁ%&eeﬁﬁg it 1riHcﬁ%\ei:§h8id_|§ EPKIOSTJ: fgeE.'iﬂ-dsgree angle is M fx e AmMAT = A VEK
A " =
TR | TR R G o WK v d atam = a KEV

33 34
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Answer Key

State whether the following oppear o be frue or false.

S.a APUT = ARAZ T d. ATPU = ARZAF [
b, ATUP = ARZA. F e AUPT = AARZT h
c. APTU = AARZ [ f ATUP = AZART )
»
6.a AABC =AXYZ T d. AABC = Azvx F

2 z
b AACB=AYXZ F e ABCA =AVXZF i A
CACAB =ADXY T ABAC =AVGT | . ¢

In ACMH name the angle included by sach pair of sides.
7. CMard HM £ M 8. cHand MC /C 9. CHand HM /H

In ACMH name the side included by each palr of angles.
10. £C and £ M———11. sHond +C —12. ~Mand +H © M

CM HC M %

In ABFX namne the angle included by each pair of sides.
13.BFand XF ZF 14 BFondax 2B 15 Fxand XE/X

In ABFX name the sids included by each pair of angles.
16 /Bond 2F BF 17. £Band £X Fx 8. 2Xand 2F XF
19. If AABC = ADEF. name the thres pairs of comesponding sides and the
three pairs of coresponding cmgles.LA =/D, /B=sE sC = /F
AB = DE, BC =FEF, AC =DF

20. If AABC = AXYZ.name the ihree pairs of corresponding sides and the
three pairs of corespoending angles JA=sX /B=sY s C =17

AB=XY,AC =XZLBC =YZ

State whether these pairs of rlangles are congruent by HL. If not, write M.

1. HL 2 N 3.

35

36

=
A 1 fthem 22 = 65°m 3= 05

o
2. Ifthem £1=106"m £3= 74

3 ltthem 21 = ID‘?‘,m/.S:E

a IfTWemLS:dT.mf_2=6_go;mL4=M-

5. IfhemLA:12“.5°,mL3=587-5?m.15:,_63_.
6. |f1aern.m=I‘20°‘m43=_égg_;m45=ﬁ.
7. fthem c3=555m 21=124.5m 5= 697
8 Mihem 22 =,m o480 X, 5 180™2x

o o
9. ifthem 24 =v*.m 22 J180°Ym .5 180%-2y
10, fthem 25=2",m 22=180-Z m ,4=180+z

2 2

E Nome the correct sides to make the statements.
1. i 1= 24, AE = DE
121 /2= LE,,@,:E
- e S 13, ffm 21 =27"andm 24 =27, _AF = DE
w

14. Name 3 pairs of congruent segments.
o m =925
15, fM 2QWV = 78" m 2Q = V&)

The trangles are similar as they appear. Find the measure of angles 1-23.

1=07° 12=62°
2= 48" 13245
3=08" 14=90°
a= 48 5= 457

5=55" 15=45°

[ 6=90" 17-90°

> 7=235° 15-45°

" 8=55" 19= 55"

9=57° 2-55"

2 ¥ 3 w=061° 21-70°
=57 2-70°

2355

37

38




Answer Key

Find the lengths of sides a-f.

x=50°

y=52°
z=78°

AL~

Note: Verfical angles ore =

i "f"%’éf ‘F yr
)

28m

3. A flagpole casts a shadow 27 feet long.
A person standing nearby casts a shadow
8 feet long. If the person is 6 fest fall, how

fall is the flagpole? 20 % foet

= Ah~
x=36°, y=120°
not similar meKIV = 55°

B

Christopher wants to reduce a friangular pattern with sides 16, 16 and 7l

8 A 9. g
20 centfimeters. If the longest side of the new pattern is to be 15 cen- =52°, b=-38° a=55
fimeters, how long should the ofher 2 sides be? 12 cm each AA~ i b=35°
< o
5. A 9 foot ladder leans against a building 7 feet above the ground. At fag® ! L S\A55

what height would o 15 foot lacder ?ouch ?he bundmg if both ladders L1 - 0=79° b=47°

form the same angle with the ground? fee‘r not similar

m. ABC = ms BCD = 907

A flagpole casts a shadow 24 feet long. A ﬂoucr standing nearby casts
mZsCoA = msDAB = 90°

a shadow 3 feet long. If the flagpole is 12 feet tall, how fallis the ﬂower”

o

1
% fee‘r
Sam wantfs to enlarge a fiangle with sides 3, 6 and 6 Inches, If the _AD® o
shortest side of the new triangle is 13 Inches, how long willthe other two a=02", b=062", c= 28

sidesbe? 94 inches
. A 6 foot ladder leans against  buliding 4 feet above the ground. At

what height would o 15 foot ladder touch the building if both ladders
form the sorme angle with the ground? 10 fee

~

=3

39 uo

Below Is the first stage of a fractal called the Sierpinski Tiangle. It is created by
dividing ¢ triangle into feur congruent friangles and shading the center triangle.

Stage 2: Connect the midpoints of the sides of each of the three unshaded

Rind the:permetsr. ‘9 triangles. Shade the center triangle of each section.
1. pe 90 2 Stage 3 Repeat the steps of Stages 2 for each of the unshadad friangles.
e . : zB Stage 4 Repeat the steps of Stage 2 for each of the unshadad triangles.
- 62
B
1 10 12, s
= g
p=_1 p=_ 24 p=__ 41

For each pair of similar friangles, find the rafio of the perimeter of the large
figure to the perimeter of the smaller.

7 8 _ q F, %

0. 2 |

IR

How does the number of unshaded friangles change from step to step?
Increasss by a factor of 3 frorm sfep to step.

Ui U2
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Answer Key

Complete.
Work with a partner. Use a ruler and @ number cube. 1. NI_MO 3 oML OL
oNi w
1. Mark any point in the tiangie. That mark is the starting ooint. 2 ONi ML afl Ol
2. Roll the number cube. For a roll of: 1 or 2, use vertex A Tell whether each pair of segments o rays is parallel, perpendicular of neither.
3 or 4, use vertex B
5 or 6, use vertex C R ")
3. Mark the point halfway between the starting point and the vertex . 5 @S andT™ I
from step 2. 2 T TE o
4. Repeat step 2. Mark the paint haifwoy between the paint marked in HEELGAdREE <1
step 3 and the vertex determined by rolling the number cube. 7. Rlond TV 1
5. Repeat the process approximately 100 fimes: roll the number cube, E 8 TUandvi L
W i I i 2
:;;L:;gﬁﬂ?:\:;x?mv between the last m:?med pomT and the A o, Q? e Ty‘ T
6. Describe the resulting pattern. Result will look like *g—‘*‘”—% 10. RUand @F |1
a Sierpinski friangle.
1. AT andDE
2 12 T andTF N
13 TFandBC L A i vl
e L B
14, TFand B 1] H
15. DF andAD L
16. BD andBC N 3
i N . S ul
17. DF and EC & E F
18. BC andAD L
B c andTE ||
20. BB andBF |l
ZF
Lo 4 4 J\
¥ DEE )
¢ LEFD =
o2 £RQT £TER @
N s s 22
G H 1K ™ X
F 2 5.
1. fRF=7,DF = ?‘m___ 5 IfRS=4.6,.QR = 4'6 N T 2
14 e A ENON TN e
2. Gl= 6DR_= K 19.4 . £PON ZW.,
3. MQS=21.RS= 10'5 7. FQR=97.Q5= i [ a
?3* 3. b,
4. 1f DF = 5,RF = I IFRF =43 FD= 8 * A
Z6
7 /B
—— N —— <
[ 4 9 /ABC, ZCBA <
B E G 13. Nome 5 rays using the figure in #70\/ U\W UX. UY, UZ
vu‘s/‘t:/_,—\r‘_) . f . ’ !
3 : . e -
14, Name 5 segments using the figure in #5.
. 9.BC= 5 1. FG = 7 13. DG = 22 ] YXYZ ZW. WX, ZX
B 6 A __30 wi- AD=DF 15. Name 8 rays using Ihe figure in F105F’ Y= XA, XD, BD, AC, CA, DB
16, Nome 4 segments using the figure In #11, cO OA’ ﬁ ET
17. Nome 10 segments using the igureins12.
KN, NV, KV, NE, NI, El, KE, EV, VI, Kl

us ué

AR
SRl
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Answer Key

L S 7.
:ﬁk acute Sictie
acute A
2 obtuse 5. 3} 8
15 straight "';bms o

4 msQUs=moruss MEQUR

5 M 2GUR +m sRUT= MZQUT

6. mesUR+mesuT=  MARUT B b e %, shaight
right obtuse

3. meaon=_067°

7. 1Fm £QUS = 72° and y = 46", m £RUQ = J2627 LEBC 2 BCE ZBCE;
Figure 1 10, List 5 acute angles. ZBAE. ~CDE, ~EDA
8. If m £ SUR = 46 and M £SUT = 31°.m £RUT = 77 N stzrgrtongles. , ABE s BCD
9. itm QUR =267 and m £RUT= 77%m saur= 103" 12 Lsl 2 obluss angles, A epy L BEG
a 13, List 2 straight
10, m 2wox = _47° 14, m 2XOY +m 2¥0z = 97 Of MAXOZ 8, Lt Z g 9 AEC, £ BED
5 Figure 2
M. mexoz= _ 97 15, m cwoy “MEWOX L xov Tk
9 . ZEUA, 2ZAEU, LEAU,
12.mawov=_73" 16 i 2 GAH=18m /1A= 19 ! 14, Usts ackire angles: .« | JE|, 2 IUQY
gk
13 mwoz=m owoy s MEYOZ o MLGAL L Al 15 List 2 abtuse angles. » AJ|, £ E|U
A W x g 16. List 2 sh les.
U ist 2 straight ang| esLE|O, ZAUO

U7 us

Use a ruler and protractor.

. Locate point A 1in.from the bottorn and 1 in. from the right side
of the poge.

2. Drow segment AB ] in. long parallel fo the bottom of the page
so B is 17 in. from the right side of the page.
3. Draw segrment BC 1in. long and m2ABC is 150°. i 4
(C is above segment AB.) igure JBEC
4. Draw segment CD 1 in. long and m£BCD is 150°, 1. Name the right angles. BEF’
- 2 GEF & £ CED, £ACB & <DCE,

(D is above segment BC.)

Draw segment DE 2 in. long and m/ CDE is 1507,
(E is on the same side of segment CD as B.)

Draw segment £F | in. long and m.2DEF is 1007,

N

Name 4 pairs of vertical angles. , np & «BCE, » CEG & + DEF
Nome one pair of complementary Ong‘eS‘LFEG & + GEB

o
w

o

(F and B are on opposite sides of segment DE.) 4. Name four palrs of supplementary angles with - ~p o, Acp , ACD & /DCE
7. Draw segment FG Lin. long and m.EFG is 90° PaiRtC s the verex. /DCA & ZACE, 2 DCE & 7 ECB
(G and E are on opposite sides of segment CD.) _— o e i
% Z =55°,m £ECD=]125% m sACD=_85
8. Connect GtoD.GtoE.and Fto D. I e e iR
9. Draw segments BH and Bl E 6. M LFEG=x.m £BEG =90 - X
1/2 in.long and mz ABH
Figure 2

and mZABJ are 90°,

10. Drow segments BK and BL
1/2in. long and m s CBK
and m£CBLare 90°.(H is
on the same side of
segrnent AB as K.)

11. Connect H fo K and G
Connect Jto L.

12. Draw segments CM
and CN ; In.leng

ZAEl £EIO,
2OUIL £OUA  LEAO & £AEL 2 AUC & 210U,
8. Name 3 pairs of supplementary angles. ZAFI & 20U

7. Name the right angles.

9. Name 3 pairs of complementary angles.
3 £EAl & £EIA, £UOI & £ UIO,
10.m ZEAI=25°m 2ElA=_ 0D ZUDA & 7 UAD

1. m 2UOI = 55", m AUIO = _

and mzBCM and
myBCN Figure 3
are 90°. 12. Name 2 pairs of vertical angles. ZESV & £ NSK, ZESK & £ VSN

13. Draw segmenls CO
and CP | in. long
and msDCO and
mLDCP are 907,

(M s on the same
side of sagment
B5as Q)

14. Connect M fo O

and connect N to P

13. Name 2 palrs of supplementary angles. Answers will vary.
ZKNS & £SNI, LIVS & LEVS

uq 50
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